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Answer Key
1. d 2. a 3. e 4. b 5. a
6. ¢ 7. ¢ 8. b/d 9. e 10. a
11. a/c 12. a 13.¢c 14.d 15. a/e
16.b 17.d 18. ¢ 19.b 20.b
21.b 22.¢ 23.¢ 24.d 25.¢
26.c 27.d 28.¢ 29.¢ 30.d
31.b 32.a 33.b 34.c 35.a
36. ale 37.b 38.d 39.¢c 40. a
41.d 42.d 43.b 44.b 45.d
46.b 47. ¢ 48.a 49.¢ 50.d
5l.c 52.b 53.a 54.c 55.¢
56.a 57.d 58.¢ 59.¢ 60. c

Note: In four questions two responses were given credit as being correct answers (i.e., if a student selected either of
these responses it was recorded as a correct response): in questions 8, 11, and 15 two responses were deemed to be
correct (this was unintentional); response (a) of question 36 had a typographical error (06, not O26) in the original
version of the test which made this response correct, in addition to response (e).
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